E & =% 5] L (31— %)
No.1
1 2
| T | 7 m|
(F4 1) /9 6 (4 1] T 6
- 3x457 0 | | ma| | WD
(R 2) : 6| [imp ©  Levoscmmzel L8
B E M3 | A(—2,4), P(—4 16), Q(3, 9)&Y 1
[ﬁﬁ 3] e 6 i 2
| 36 9 | AQT=i3-(—2)P+(9-4p=50
= ) [ PQZ={3—(—4)P2+(9—16)2=98
SFEHIE 34 A | AP?={—4—(—2)]2+(16—4)>=148
(F5 4] — @ | ~o%v. AP2=A4Q2+PQ? 2O,
ch dhfg 3.5 I =EHOEROHLY, AAPQ I,
| i — = £Q =90 DEA=ZAKThH2,
' , £oT, ROLEREIL,
[ﬁﬁ 5] o — 33 y y: 57 . 1 = @%
o !W 7 X AQXPQ=—x5.2 x7/2 =35 (cm?)
(7 6] Fiol
WAl 8
3
A D
RN
&
—
B E & F

(R 2) @

y=3x+10




E % % # . (31— %)
No.2
3 4
| [T | LT
(RS 1) 15 E | 6 |10 40 cm”® |t 6
i “ﬁiﬂ)(a) 3 ) 3 o
@ t 1 B2 eroronmEnr] |08
| S e m26) | D LTEA G ARRE, ]
®) % 1 | pa=crR:vDG=aR oz,
e | | CD=4(em), CG =3(cm) 72205,
| ) & q | | TProEmLy,
. | | DG=QR =5(cm) TH 5,
| B |y 5T, APQRIZ—SIDEXAS (cm) D
@ 1 I | | z=awrers, PQ=5cmths.
ol W | APPLUEFCERYSIE, KAEP LT 5.
M2 |G = B | AP LRRERSL, APP'RIZ
 |EEE | ZPP'R =90° DEA=ART, PP’ =3(cm),
| m2OD| | PR — 5(cm) 725D, ZTEHOEHEELY,
| (f) + e RP’ = 4(cm) Th 5,
. - —|ER| | —= AP ==z t¥%&, PB=P'F=4—
@) A 1 l AP’FR 13 ZP'FR = 0° DA =AHE00,
T S | =erormLy,
N | FRE =442y = Br—?
o I 1| DQ=GRLY, AQ=FR THBH5
ISR B |2 s,
@ | =g cm 6 | | 2aPQi3£PAQ = 0 PEA= SIS,

=¥5oERLY APE+AQ2=PQ? Th3,

LoT, 2248 —22=5" Li2oT, x:%
pExy, AP=2(cm)
N 25
& A — cm
8
P N
(75 3) 16 em® i 6




